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CBA Practice model answers

Basic Costing (BCCG)

Practice 2
Section 1

Task 1.1
[image: image2.png]Indicate whether the following characteristics describe EITHER financial accounting OR management accounting.

lts output s accounts that wil be used by
lsharenolders

[tis a system that produces information that helps
[managers to manage

[tuses historic cost o produce statements for exteral
lpublication

[t uses cost benaviour as a classificationto determine
jper unit





Task 1.2
[image: image3.png]Classify each of the following costs by element (materials, labour or overheads) by putting a tick in the relevant column of
the table below.

Isteel used in manufacturing

[Wages of production workers

[Fees of extemal accountant

[Factory cleaning costs

]IS





Task 1.3
[image: image4.png]Classify each of the following costs by nature (direct or indirect) by putting a tick in the relevant column of the table belov..

[Polycarbonate sheeting used in the manufacture of
[helicopter windows

[Heating costs of factory

[Purchasing department costs to place orders





Task 1.4
[image: image5.png]Classify the following costs incurred by function (production, administration, selling and distribution or
finance) by putting a tick in the relevant column of the table below.

Ietal used to make the golf clubs.

[Fuel used by delivery lorries

[Promotion event ata golt
lexnibition

[Salaries of office staft




 
Task 1.5
[image: image6.png]Classify each of the following costs by their behaviour (fixed, variable, or semi-variable) by putting a tick in the relevant
column of the table below.

ISteel used in manufacture

[Production workers paid on a tme
Irate and bonus method

IMachinery maintenance costs
lbased upon usage

Insurance costs for factory




 
Task 1.6

[image: image7.png][Revenue from room booking 1001 101

|Breakfast sales in the restaurant | 100 / 102

[[aundry costs of towels used in the

|sports centre 2201 202

|salary of restaurant manager 200/ 202

[Purchase offood for restaurant | 200/ 201

[Maintenance costs of hotel rooms | 210 / 202




 
Task 1.7

[image: image8.png][Material used for shoe laces 101
[Wages of canteen staft B108
[Shoeboxes used for every pair of

101
lshoes sold
|Etectricity costs for shops c108

|Wages for staff on assemblyline | 8101




 
Task 1.8
[image: image9.png]Identify the type of cost behaviour (fixed, variable or semi-variable) described by each statement below by
putting a tick in the relevant column of the table below.

|4t 600 units costs are £4 per unit and at 800 units
[costs are £3 per unit

[At 1,500 units costs are £5,000 made up of a fixed
lelement of £2,000 and a cost of £2 3 unit

[Costs are £3,000 for 1,000 units and £4,200 for
[1.400 units





Task 1.9
[image: image10.png]Classify the following costs as either fixed or variable by putting a tick in the relevant column of the
table below.

[Bonus paid to production workers based
|upon output

[Satary of the Purchasing Deparment
[manager

[——

[Commission paid o sales team based on
lsates mage v





Task 1.10
[image: image11.png]Complete the table below showing fixed costs, variable costs, total costs and unit cost at the different
levels of production. You are told that fixed costs are £120,000 and that variable costs are £150 per unit.

l2.000 120000 300000 420000 210

l2.400 120000 360000 480000 200

l4.000 120000 600000 720000 180





Task 1.11
[image: image12.png]Complete the following total cost and unit cost table for a production level of 40,000 units.

IMaterials 200000 | 5
|Labour 160000 | 4
|overheads 240000 | &

[Total 600000 | 15





Task 1.12
[image: image13.png]Complete the table below to show the unit cost at the production level of 25,000 units.

IMaterials 10
|Labour 6
|overheads 1

[Total 27





Section 2


Task 2.1
[image: image14.png]Opening inventory of raw materials

£42,000

Purchases ofaw malerials 2300000
Closing inventory of raw materials 260,000
DIRECT WATERIALS USED 282,000
Directlabour 252,000

PRIVE COST 2864000
Wanufacturing overheads 2318000
WANUFAGTURING GOST 21,182,000
Opening iventory ofwork n progress  £48,000

Glosing inventory of work n progress 260,000

COST OF GOODS MANUFACTURED _ £1.170,000
Opening invertory o fnished gosds £180,000
Glosing inventoryoffinished goods £150,000
COST OF GOODS S0LD 21200000





Task 2.2
[image: image15.png]You are told the opening inventory of a single raw material in the stores is 600 units at £6 per unit. During
the month, a receipt of 300 units at £9 per unitis received and the following week 400 units are issued.
Identiy the valuation method described in the statements below.

[The issue of 400 units is costed at
le2.800

[The closing inventory is valued at
l£3.000

[The issue of 400 units is costed at
le3.300

SIS





Task 2.3
[image: image16.png]Identify the following statements as true or false by putting a tick in the relevant column of the table below.

[FIFO costs issues of inventories atthe oldest
lpurchase price.

[AvCO costs issues of inventories atthe oldest
lpurchase price.

|LIFO costs issues of inventories atthe oldest
lpurchase price.

[FIFO values closing inventories atthe most recent
lpurchase price.

|LIFO values closing inventories atthe most recent
lpurchase price.

[AvCO values closing inventories at the average
lpurchase price.





Task 2.4
[image: image17.png]Wellington Ltd has the following movements in a certain type of inventory into and out of its stores for the-
month of May:

RECEIPTS
units

ay 4 20| 2800

ayo EEES

ay 13 4| e2250

ay 19 800

ay 26 00| z1800

Complete the table below by entering the cost of issue and closing inventory values.

FIFO 3625 2800

luFo 3825 2600

lavco 3700 2725





Task 2.5
[image: image18.png]Identify the following statements as true or false by putting a tick in the relevant column of the table below.

[Direct labour costs can be associated with the
lproduct made

IIndirect 1abour costs wil always be fixed costs





Task 2.6
[image: image19.png]Identify the labour payment method by putting a tick in the relevant column of the table below.

|Labour will be rewarded beyond a
louaranteed wage ifthey are
lefcient.

[abour wil be paid the same
lregardiess of output i their
lattendance is the same.

If'a worker produces less then they
[will e paid less.





Task 2.7
[image: image20.png]Identify the labour payment method described in the following statements by putting a tick in the relevant
‘column of the table below.

[An employee is paid £360 for her
[week's production of 700 units at
[£0.50 per unit

|An employee works for 30 hours at
l£12 per hour andis paid £360

[An employee works for 35 hours at
[£10 per hour andis paid £350 plus
Jan extra £50 for efficient production





Task 2.8
[image: image21.png]Calculate the basic wage, overtime and gross wage for the week for the two employees in the table below.
Note: f no overtime is paid you should enter 0 as the overtime for that employee.

. smyth 2 570 100 670

ls. knan s 570 175 745






Task 2.9
[image: image22.png]Calculate the gross wage for the week for the two workers in the table below.

1. areen lsso 605

. white le70 737





Task 2.10
[image: image23.png]Calculate the gross wage for the week including bonus for the three workers in the table below.
Note: i no bonus is paid you should enter 0 as the bonus for that employee in the table.

lE. OKane laz less 559 6 575
IB. Roberts €3 o5t 507 0 507
IP. Fletener a7 lsoa 481 2 505





Task 2.11
[image: image24.png]Identify the following statements as true or false by putting a tick in the relevant column of the table below.

|A favourable variance means actual costis greater
ftnan budgeted cost

[A costvariance is the difierence between actual cost
|and budgeted cost.





Task 2.12

[image: image25.png]Calculate the amount of the variance for each cost type and then determine whether itis adverse or
favourable by putting a tick in the relevant column of the table below.

lrectmateras w0 s a0
[— a0 a0 1100
—— e
famimaton a0 a0 om0
[Seino naistbuton] o700 28100 1a00





Task 2.13
[image: image26.png]Examine the adverse (A) and favourable (F) variances in the table below and calculate the actual cost,
indicating whether each variance is significant or not significant by putting a tick in the relevant column of
the table below.

[Direct materials 46,200 2350 (F)| 43850
[Direct labour 37,350 1,290 (A)| 38640
[Procuction overheads | 22850 12009 24050
[pominitition 6320 o0 7240
[Setng anaistoution| 45300 7a0 | 15130





Task 2.14

[image: image27.png]\dentify, for the following significant cost variances, one relevant manager to whom the performance
report should be sent.

IDirectlabour [Human Resources Manager  |iJ

IDirect materials. [Purchasing Manager v





OR

[image: image28.png]IDirect labour

Production Manager

IDirect materials.

Production Manager
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